EHI0EE BEARBTRE YVIFRR—ILODE F—FArA MR

2Z11(7:50~8:20) [F=(8:30)
6D - EE (AIEEER)

O 1~5

O 6~11 [EE - FME - iR - &2 - At - =< SHE

BB (BEHNERTFTINF)
C LU - BENE - M (BTEREEER)

B 4HE

AI—h+
1 /NI <a—MRER >
— G5oR
Ba—+
2 Il @&
©) @ Ca—+h
— A3d—h
3 ]
— K&
4| HEHNE
B a—p
5 ® <CBHZZONTY
— @ £F : 3%
6 =] @ K—LR—1-185 : 1%
€), @
— — O B1HE = Ohoi24
7 M E O #2i#A = Oho&24
— O #3ia = O-QnHL%E24
8 <5 Hh O 4 = OridE24
¥ Ca—hE, EEF—LMNDEAE
Cc a—k
9 E L /N=] <A 8>
— A-Ba—k: Cca—Fh
3 10 i n @ 1848 9:00 ~! 9:00~
254 10:00 ~ 10:00~
11 = H £3H& 11:00 ~ 11:10~

12: 00 ~




